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Instructions: Answer each question on loose leaf, quad-ruled (graph paper), headed properly and written in lead-graphite.  
Remember to fold paper along the center, work exercises in order top to bottom, left column then right column. Staple multiple 
pages

Practice Set 08

1. Identify the additive inverse of the numeric term 
either added or subtracted from the unknown: 

a) �   b) �  c) �   

d) �   e) � 


2. Identify the reciprocal of the factor (coefficient) 
multiplied to the unknown. 

a) �   b) �  c) �    

d) �   e) � 


3. When are two numbers additive inverses? Justify 
with evidence.


4. When are two numbers reciprocal? Justify with 
evidence.


5. Solve One-Step Equations: Determine the value of 
the unknown that makes the statement true: 

a) �   b) �   c) �  

d) �   e) � 


6. �  
a) �   b) �   c) �  d) �  

7. Simplify, with all exponents positive: �  

8. Solve the equations for the unknown: 
a) �   b) �   c) �   
 d) �   e) �  

9. Gv1 pg. 115 #1

10. Gv1 pg 115 #2

11. Gv1 pg 115 #3

12. Gv1 pg. 115 #4

13. Gv1 pg 115 #5

14. Gv1 pg 115 #6

15. Gv1 pg 115 #7

16. Gv1 pg 115 #8

17. Gv1 pg 115 #9

18. Gv1 pg 115 #10

19. Gv1 pg 115 #11

20. Gv1 pg 116 #13

21. Gv1 pg 116 #16


22. Determine the perimeter of a square with an area of 
�  

23. Write the repeating decimals as fractions: 
a) �   b) �   c) �   d) �   e) �  

24. Gv1 pg. 125 #1

25. Gv1 pg. 125 #2

26. Gv1 pg. 125 #3

27. Gv1 pg. 125 #4

28. Gv1 pg. 125 #5

29. Gv1 pg. 125 #6

30. Gv1 pg. 125 #7

31. Gv1 pg. 125 #8

32. Gv1 pg. 125 #9

33. Gv1 pg. 125 #10

34. Gv1 pg. 125 #11

35. Gv1 pg. 133 #1

36. Gv1 pg. 133 #2

37. Gv1 pg. 133 #3

38. Gv1 pg. 133 #4

39. Gv1 pg. 133 #5

40. Gv1 pg. 133 #6

41. Gv1 pg. 133 #7

42. Gv1 pg. 133 #8

43. Gv1 pg. 63 #1

44. Gv1 pg 63 #3

45. Gv1 pg 63 #5

46. Gv1 pg 65 #21

47. Gv1 pg. 65 #23

48. Gv1 pg. 65 #24

49. Gv1 pg. 66 #26 

x − 5 = −3 y + 5 = −4 a − 2
3
= −2

b + 1
8
= − 2

5
c − 0.75 = 4.2

5
7
d = −3 − 6

5
k = 11 5n = −13

−6p = 4.7 q
9
= −1.8

x − 5 = −8 x + 5 = −2 a + 1
4
= 3
8

b − 3
5
= 7
10

c − 0.36 = 3
4

1 A spacecraft that has been traveling for about 330,000 hours is approximately 1.98 × 1010 kilometers away from
Earth.

Which of the following statements are true regarding this spacecraft?  Select all that apply.

A. The spacecraft is
traveling at a rate of
approximately 60,000
kilometers per hour.

B. The spacecraft is
traveling at a rate of
approximately 6 × 109

millimeters per hour.

C. In a hundred hours, the
spacecraft travels
approximately 6 billion
meters.

D. In a hundred hours, the
spacecraft travels
approximately 6 × 1011

centimeters.

2 Enter a fraction equivalent to 0.5 using only whole numbers for the numerator and denominator.

 

3 Select all possible values for x in the equation x2 = 48.

A. √ 48 B. 24 √ 2 C. –4 √ 3 D. –16 √ 3

4 How many times larger is 8 × 104 than 8 × 101?

A. 512 B. 1000 C. 4096 D. 10,000

5 An equation is shown below.

5·5k

5–8
 = 53

What value of k makes this equation true?

k =  

6 Which of the following is equivalent to (2–4 • 23)3?  Select all that apply.

A. 1

8

B. 8 C. 2–12 • 29 D. 2–1 • 26

7 Which expression is equivalent to (9.5 × 105) – (2.3 × 104)?

A. 7.2 × 10 B. 9.27 × 10 C. 7.2 × 105 D. 9.27 × 105

8 Which of the following is equivalent to (5 × 103) + (4 × 106)?

A. 4.005 × 106 B. 9 × 106 C. 4.005 × 109 D. 9 × 109
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7.2 •10 9.27 •10 7.2 •105 9.27 •105

27 • 3−2 • 4−1

2−5 • 33 • 45

x2 = 289 n2 = 361 c2 = 529
k2 = 841 z2 = 961

6cm2

0.48 0.35 0.63 0.78 0.27


